20175 F1RE ~ 2017F F1053E 2017F4A18(L£) ~ 2017#11812H(H)

WRFAZR 10 [AxE] * R IRE (HE$ x0.5)= 7.0
FhfEIR il Bk -7 A= R B
fiz 270 BAEISE i eI} il fiz 270 Bl fiz AT} -7 fiz AT F—IL K| | iz 2RI i
1 |z @K 3.14 1 |FAI3E X 3 1|9 &K 4 1|KZERKX 1 1|9l &K 1 1 |FAIE X .750
2 |5 B 3.86 1|9 &K 2 |BE 2K 1 2| KERKX .500
RALUIE:7N 411 3[XEERKX 1 2| KERXK 1 3 [l &KX 429
4[KZERK 9.42 2 |5 B 1 4[5 B .000
S =ik =IRE TR 5k S yekER
fiz EA T SEEt i 20 E=IR fir EA T EoIRE| | 20 TR fir EAT] S mER i e SmERE
1 |BiE X 1 MENESS 39 NS 10.03 1 [FE X 226 NS 26 1 [ B 1.29
2 [FiE 2K 15 2 |FlE /X 9.42 2 [l &K 237 2 |FlE /X 9 2 | K2 RXK 3.77
3| KRB RK 6 3| RERK 3.77 3 &R B 276 3| K2 REX 3 |BAE X 5.65
4[5 B 4[5 B 1.29 4| KERK .281 4 %5 B 1 4 |5l &K 6.69
57E5Kk E BES K/BB WHIP MVP
fiz 20 53EER i AT} ES fir 20 BES fiz AT} K/BB fiz 270 WHIP fiz 20 MVP
1 |z @K 4 1[Il &KX 42 1|/l &K 16 1 |FAIE X 1.67 1 %s B 1.29 IR~ 6
2 | KB RXK 3 2 | KRB RXK 16 2 | KB RXK 15 AEEFN 1.50 2 |FIE X 1.47 2 |FE 2k 4
3 [%a EH 2 3 [BmZE X 7 3 [BlsE K 5 3[XEERKX 1.00 3| KERK 1.67 3[XEERKX 3
4 |d)Il &KX 1 3 [%5 B 4 |5 E# 3 [%a B 1.00 4 |d)Il &KX 1.80 4 |5 B 1




